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QUESTIONS (60 points) ;:‘:\13\@\:'{::‘
A \

Answer questions 1-7 in English, according to the text. In questions 1 and 5, circle the number of the n

correct answer. In the other questions, follow the instructions. N

1. What are we told in paragraph I? O

1)  How companies responded to workers' requests. Ny \\\\\I\’,
NP

Why people stopped working in their offices. f\‘l\:l‘,’\\l{,’\'\‘

iii) When offices were allowed to open again. (»1¥d

iv) What companies thought of the new laws. A
(6 points) | [RANAVRY

2. Why might office workers prefer to work from home? Give ONE reason. Base your answer on NI Y]
information in paragraph I. IR ANAVIY
COMPLETE THE SENTENCE. :\)r,\
They want to . Nave flexible working hours/not waste time commuting to and 371\7\:;\|

from work. ) ;:‘7\,,',7\\',194\:

3. How do the new work arrangements help companies? Base your answer on lines 8-10. Sll:\/\\[\l Y
COMPLETE THE SENTENCE. OGN

. NSRS
Companies can . SAVE ON TENtANd electricity. SIRZRN

\
4. What are we told about the companies mentioned in lines 10-13? ;‘)Tl‘\’\‘,v
COMPLETE THE SENTENCE. :’,:’\\'f,\l\,‘ﬁtl,
. . \\\
We are told why they are able to keep thEIr offlcespermanentlyclosed/ ,,,,,,,,,,, -t ls:\:l,\ 2
recruit workers from anywhere in the world. ; i) ':\>t WA

5. According to paragraph II, what do the countries mentioned in line 15 have in common? f \ﬂ(,‘/\ (b2
i)  Most businesses there have closed down. PN
. . AN
They don't have enough highly trained workers. _\’,"\\\’/ l,\ fﬁ:’,
Ay N
iii) They have a shortage of jobs for highly trained workers. 1A I/\\\jlf\f\\

iv) Most people there work from home. TN
(6 points) N
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6. Why might workers prefer to work in their company's offices rather than from home? Give TWQ
reasons from the following lines. AN
ST AR
COMPLETE THE SENTENCES. AVShd
(1) Lines 16-18: FhGALAN

1 i i b hY
In the office, they ...NAVE a reliable internet connection/ B | TN

. Ay
have space to set up their work desk. :’,"\\\";,\‘i_\’,
(2) Lines 18-21: RYAVNIN

. : . N
In the office, they .21€ able 10 discuss ideas or problems with colleagues. —— [p{¥3 Sk

(2x7=14 points)

\’
53
AN,
o]
o 7S

7. What does Grant explain in paragraph IV? :\\>‘7‘,
PUT A v BY THE TWO CORRECT ANSWERS. Yool
She explains why (). RFRAY
plains why RRJADAN
\/ i)  some companies watch the people working from home .’.‘\)nt\\l:’\'l‘\
....... ii) people working from home need fewer breaks :// ] \l.,l\i\\c,\,
....... iii) people will get used to the new working arrangements
....... iv) working relationships are very important

\
J . QIEAXTAM>,
....... v)  most workers might prefer to spend the workweek at the office ‘/l VYNV

....... vi) conditions for working from home will improve
(2x7=14 points)

6Ty /7 Tmyaqunn/  pNYY S2

VAT
RNAN

Monix'oginMA1 7R E | www.ankori.co.il | 1800-85-85-85 | MIFIN 711'Na WA



